Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C311703 Date: 08/06 /2015
Subject Name: Principles of Chemical Engineering

Time: 02:30 PM TO 04:00 PM Total Marks: 70
Instructions:

No.

1.

2
3.
4.
5

Attempt all questions.

Make suitable assumption wherever necessary.

Each question is of 1 mark.

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

. English version is authentic.

Question Text and Option

Which is the process of formation of solid from liquid or gas?

A. Evaporation B. Blending

C. Crystallization D. Continues process
Yol ¥ atyy Hi Yl dot olotaltoll Ylbaul o 9 58 B?

A. ot letclot B. oAl3al

C. w2 8ls?0 D. soldleux YAY
Which is the type of grinding mill?

A. Wind mill B. Water mill

C. Weeper mill D. All of these
USSRt ol UslR sl B?

A. (Qos A B. dler Aa

C. Qu: Aa D. GUR ol ot

By which process water can be removed from another solvent?
A. Drying B.  Evaporation
C. Batch process D. all of these

565 Ylsall gl alas Hi Al well €2 sauHl v 8?2

A. sLEsaL B. olxletclet

C. AU YIRAY D. GUR all ol

In __ process physical change occurs during manufacturing of product
A. Unit process B.  Unit operation

C. Cracking D. none

_y[sa | Geauteot eR@auet ueld Hi Mo dllds uRadet aal ®
A. Yole YAU B. 3Jlle U2t

C. 5(5aL D. GUR ol Ui &l 8 o3

Name the process for transfer material from one place to another
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10.

10.

A. Grinding B.  Centrifugation

C. Conveying D. Al

Ueldl ol As ogouA Ul ol ol RUAidARd sclell Ulsal of otid seual
A. AT 5101 B. Aoplgydlalat

C. soc2[o1 D. GUR oll Wl

The method or technique used for manufacturing of product without interruption

is known as_____

A. Batch process B. Continuous process

C. Evaporation D. Crushing

S1E URL USIR oll (AU (Aotl Gewleat ofl ugld ¥ 250(ls A 58 ®
A. AU YAY B. Soldlouid YAY

C. wsfletciot D. sl

is the instrument used for drying purpose

A. Dryer B. Evaporator
C. Agitator D. Grinder
_ Bus0L Sl MR duRlA B

A. SlaAR B. ¢aureR

C. AUYeeR D. OUEeSR

In case of spray dryer the final product comes in the form of
A. Powder form B. Liquid form
C. Solid form D. Gaseous form
W slAR ol Ulsse a3 A &

A. UIBs? w3u B. yalél :3u
C. ol AU D. d d3u
Operations are the combination of

A. Process B. Unit

C. Data D. Variable
QA 20V90et oll A2Ax RNeA

A. YA B. s

C. sal D. aAilAwa

In unit operation Agitation means

A. Mixing B.  Crushing

C. Drying D. Crystallization
YAz w2t Ui AP2alet WA

A. (&0 B. sl
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11.

11.

12.

12.

13.

13.

14.

14.

15.

15.

16.

C. sLesal

The Process is done in batches is known as______

A. Continuous

C. Both of the above

Y5l QA Ui sRauHl A B

A. sotdloAU

C. GUR oll Gial

Crushing is a process to____ ?

A. Increase the size

C. Drying

st ue ol ulsa 82

A. SE culRall HIE

C. SLEsaL

What is main function of filtration?

A. Remove impurity from water

C. Remove impurity from
leather

(3cgatat of Yuat st 9 B?

A. wiell i ol wyls g2 sl

C. AL MLl A (s €2
scl

Centrifugation process is used to separate

A. Liquid from Liquid
C. Both of the above

D.

B.
D.

B.
D.

w(28ls:0
Process
Batch

None of the above

ARY]
GUR oll Hidl 818 o

Decrease the size

Evaporating

SE dalsal HIR
otdletclet

Remove impurity from rubber

None of the above

0012 Ui ol wY(& £ sl
GUR ol Hiell 818 o3

Solid from liquid

None of the above

Aoglgydlalet Ylsall _ ol gal wsal M2 duRld 8

A. yaugl Hi Al yauel B.
C. GUR oll Gial D.
In the Hydrogenation process is added?
A. Chlorine B.
C. Bromine D.

Y8l Hi Ul Yot
GUR oll Hidl 81 o

Hydrogen

All of above

slsaalet ofl ylsau Hi GRRAML A &?

A. sA3lot B. &lyglosel

C. A st D. GUR ol dHIH
Caffeine is extracted from coffee by __ process

A. Cracking B.  Extraction

3/14



16.

17.

17.

18.

18.

19.

19.

20.

20.

21

21.

C. Hydrogenation D. None
slgl ui &l 35let GlRL £ s A ®

A. 3(8a1 B. Ae2s3lel

C. HERIGEEE D. GUR ol Higl 51 o8
Which polymer is used in electrical appliances as an insulator?

A. PVC B. Poly propylene

C. Teflon D. None

SAsElsA GUsNN Ul SryAe ¥ s WAlHR auRla B7?

A. PVC B. Wl WRclst

C. 2$clot D. GUR all Hiell 8 o3

Which is the process of breaking large molecule into small molecules?

A. Hydrogenation B.  Extraction

C. Cracking D. Al

565 ylsal Ui Hel AUQYB A AlSl ollotl HURQBN tlollclcltHl uA B?
A. HEROEE B. Wegsdlot

C. (301 D. GUR ol ctHiH

The process of removal of hydrogen in known as

A. Dehalogenation B. Dehydrogenation
C. Hydrogenation D. None

sleglasel £2 scllell ulsal o 58 O

A. SIEA) 2Lt B. Slslssglealalet
C. HEROGEG! D. GUR ol Hiell 818 ol(d
Removal of pollutant from compound is done by __ process.
A. Hydrogenation B. Extraction

C. Cracking D. Adsorption
st Hi ol ygwsl  ulsau gl £2 53l asla ®

A. HENOGEE! B. W&gsat

C. (301 D. adlalval

The process of taking something from one liquid and forcing it to become

dissolved in another liquid is known as

A. Drying B.  Evaporation

C. Batch process D. extraction

As yalldl 1l Al 518 ueled £2 531 ollost yadl Hi qounal ol ylsa o
_ 5%9®

A. SLEsaL B. ozJletclat
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22.

22.

23.

23.

24.

24.

25.

25.

26.

26.

C. AU YRR D. &5t

is the process of formation of polymer.

A. Polymerization B.  Adsorption

C. Absorption D. Extraction

QR oletate(l ylsa &

A. WALHRALT R ot B. udlalmel

C. TECENLNE D. W&gs3lat

__ is the process of adding alkyl group from one molecule to another molecule
A. Hydrogenation B.  Dehydrogenation

C. alkylation D. none of these

A As W Ul &l AesFSA AYs £ 531 oflost g Ui GRRalo(l ylsau

)
A. sl Sl allet B. slelgslealalet

C. US| AU D. GUR ol Hiell 81 ol
Name the process to break higher hydrocarbons into a variety of lower
hydrocarbons that are more volatile (low boiling)

A. Cracking B. Hydrogenation

C. Isomerism D. All of the above

el slsglsiolet ol ALSL el el allotl slBsIolat ¥ Bl ay cumelld sl B,
woilaiallofl (3l of oltH el

A. (301 B. &lBsl®aat

C. AUSARI A D. GUR ol dHd

By which Process the molecular structure of a hydrocarbon is rearranged to
change its properties?

A. Isomerisation B.  Crystallization

C. Polymerisation D. Cracking

565 Ulsal gl sloQslolel oll W ofl Al ML 3812 531 Aell ptunl
GEAUHL ALA B?

A. AUSAUAASB 2 B. sReclERalet
C. WAlHRAS B2t D. 3%
Vegetable Ghee is made by _ ?

A. Hydrogenation B. Isomerism

C. Polymerisation D. Alkylation
_ y(sa st deirul@ Hll elettaal Wi wd 87

A. BB Aat B. ASWAINUH
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27.

27.

28.

28.

29.

29.

30.

30.

31.

31.

C. WAlHASB2tet D. ucslAat

__ process occurs when a chemical is removed from one gas or liquid stream
by mixing it with another stream

A. Absorption B. Cracking

C. Alkylation D. Hydrogenation

A SIS Ay B yaldl A ollest ay ¥ yaudl andl A sl L £
scllell (52 B

A. TN B. (8ol

C. WS At D. &lBglealet

PVC is manufactured by ___ process

A. Alkylation B. Polymerisation

C. Hydrogenation D. Cracking

PVC ____ (sl glRL ool B

A. uceslAglet B. WdlHaAgRelet

C. HEROGEG! D. 3(%a

The law which gives information about conservation of energy is?

A. First law of thermodynamics B.  Second law of thermodynamics

C. Third law of thermodynamics D. Zero law of thermodynamics

sl (A Gl el AN HdAl 2 2

A. GuolQau ol yaur B. Gwoldaua ol ollsl (Aan
(Ran

C. Guolfdauat oll Al Q. D, Eudldau ol Aol [an

Burning of coal is the example of which type of reaction?

A. Exothermic B. Endothermic

C. Both D. None

sl of AL A saL UsR ol ylsa 82

A. GwIAUS B. Gal2us

C. GUR sl ol D. GUR oll Hi ol 818 «i(e

Free energy of all spontaneous reaction always decreases is the statement of

A. 1* law thermodynamics B. 2" law thermodynamics

C. 3" law thermodynamics D. Zero law thermodynamics

AUUAA Ul ctll YlBa0 1L Y5t Gl Ui dels) alA 8, 2wl Qutet o B

A. ot au ol yaur B. Gwaldaua ol oflosl [[Aan
(Aan
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32.

32.

33.

33.

34.

34.

35.

35.

36.

36.

37.

C. GuolAQaut oll Al Qaxt D, GuQu o el [

The reaction in which formation of bond occurs is?

A. Exothermic B. Endothermic

C. Both D. None

AUAQs it ofl 22Ul U2 AR s UsLR ol ulsan wa 82

A. GwIAUS B. Gal2lus

C. GUR ol olad D. GUR ol i ol 8 i@

Entropy is the .....

A. Measure of Randomness B. Chemical property

C. Law of thermodynamics D. None

Aol Aed __

A. WAL oll HIU B. RuABs o

C. Guolfdaut ol [Ran D. GUR ol Ul dl 8 o3

At which temperature Entropy of a pure crystal will be 07

A. 100 °Celcius B. O °Celcius
C. O °Fahrenheit D. O Kelvin
sl AUl g 285 ol AUl Yot Sl B?

A. 100 °AURAU B. 0 °ARAAU
C. 0 °¥Rele D. 0 3ccllot

Energy neither created nor destroyed is the statement of which law of

Thermodynamics?

A. First B. second

C. third D. zeroth

Gl oll Aot ¥ (Aotial s otell. 2 (Qruet Guofdaut ot sl [Qad o 82

A. yuy B. ol

C. Alest D. 9o

For all spontaneous reaction value of free energy of a system would be?

A. Positive B. Negative

C. zero D. All of these

AUUAA Ul ctll ylsal w2 yeudl ol Ysd Gad decl sla 8?2

A. Ual B. =Rl

C. el D. GUR oll dAHIH

According to first law of thermodynamics. . .

A. Total internal energy of a B. Work done by a system is equal
system during a process to the heat transferred by the
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37.

38.

38.

39.

39.

40.

40.

41.

41.

remains constant system
C. Total energy of a system D. None of the above
remains constant
Gl oll YU RaH Yol . .
A ylsal el youdl o B. youcl sl ad st Axl adl GuL
UABs Gl AN B D all [QRua B2l sl ®
Cc. youdl ol st Gl AUUA W D D.  GUR all Hi &l 81 «lle

The thermodynamic property known as temperature can be measured by the

method based on __ law of thermodynamics

A. Zeroth Law B. First Law

C. Second Law D. Third Law

Gl ot AfRtud dltuHiel of Hiuel _ [ad uR AtRd ugld st
Ul &

A. 9ol [Ran B. M [Aan

C. ollost [Ran D. st Ran

In normal condition, the refrigerant enters in the compressor in an operating
refrigeration system as?

A. Dry saturated gas B. Superheated vapour

C. Liquid D. Wet saturated gas

UM A glwR2Aet ReH Ui [Qlds 519U Ul 58 WcRUL Ui ELWA UL
87

A. Ysl At dAly B. (A2 oRH drl

C. yagl D. Q% Yscl A\l aly
Chemical change that is accompanied by an absorption of heat is known as?
A. Exothermic B.  Endothermic

C. Absothermic D. Adiabatic

GWHL ofl ML WA ASAA s A 9 58 &2

A. CEIENE B. Gaialus

C. JENUIRE D. e

Chemical change that is accompanied by an release of heat is known as?

A. Exothermic B. Endothermic
C. Absothermic D. Adiabatic

% YBaA GuHl ol Yl WA ASAA B AMal 9 58 &?
A. GHIAUS B. Gouius
C. END(RE D.

8/14



42.

42.

43.

43.

44,

44,

45.

45.

46.

46.

47.

47.

Which type of impeller is used in centrifugal pumps?

A. Open B. Semi open

C. Close D. Al

Aopl$IoIA WU Ui s YSIR oll S AU B ?

A. Wl Uot B. Al ¥t

C. sAlA D. GUR all ddIH

Which is used to transfer liquid from one place to another place?

A. Pumps B. Compressor
C. Conveyer D. Al

Yallgl of WULelic? scll HIZ g duRlA 8?

A. wy B. SUUAR

C. $odAR D. GUR all dHIH

___is the advantage of centrifugal pumps?

A. It has a small size B. It has a high weight
C. It has a high maintenances D. It vibrates
cost
_ Acgleyold Wiu ol $l2UEL B?
A. stlo{l AR B. dY dol
C. A Y saell wad D. AY®d
Which from following decreases the volume & increases the pressure of air?
A. Air compressor B. Elevator
C. Pumps D. Al
o(lAotl i &l 53 ecll of EMILL AUR WA SE Yald B?
A. AR SIYAR B. dclaex
C. wy D. GUR ol MM

Which are types of impeller use in reciprocating pump?

A. Open B. Semi Open

C. Close D. None of above
RAUWEE DL W Ui s2AL YSIR oll SIAEAR dUAA 8?

A. U Uot B. Al st

C. sAlU D. GUR ol Hi &l 8¢ «ile
Piston pump and plunger pump are types of __ pump

A. Centrifugal B. Reciprocating

C. Rotary D. Screw

YReol WU Aol WoR WM YSIR oll WU B

9/14



48.

48.

49.

49.

50.

50.

51.

51.

52.

52.

53.

Aol rjolct B. Wddlat

Aesl D. ¥

is used to transfer solid materials from one place to another place.
Pump B. Compressor

Belt Conveyor D. None of the above

oll GUAL Yot UELA A As Ul A YL ol woaul A uglulsall Hi2

Al &
A.
C.

A.
C.

wy B. SRR

AR 5oAUR D. GUR ol Mi &l 81 o1l
Which is the not a type of pump?

Centrifugal pump B. Zig-zag Pump

Reciprocating Pump D. Rotary Vane pump

o{lA oll ML Al 520 W ol YsR oell?

A.
C.

Aopl 5ol W B. oflot-3BoL wy
RN Wy D. Aed wy

Conveyer is used for

A. Compression B. Combination

C. drying D. Object Transfer
oA HIC dURlA D

A. R B. et

C. SLesal D. Ueld ol RunidR
___material is used to make Belts in a Belt Conveyer?

A. Rubber B. Leather

C. Fabric D. All of the above
UELEd Qe oolladl HIZ duR(L B?

A. RUR B. RAUHS

C. slus D. GUR all dHIH

The moving part of a centrifugal pump is known as?

A.
C.

Impeller B. Volute

Suction nozzle D. Diffuser

Aol gfolct Wru otl alAelld eudl o 9 58 &?

A.
C.

SIUAAR B. A&
U2l AN D. SlsyAR

The basic function of an air dryer in a compressor is to

A.

Prevent dust from entering B. Reduce the temperature of the air
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53.

54.

54.

55.

55.

56.

56.

57.

57.

the
compressor
C. Store and smoothen the

pulsating air output

SIAR UL AR glaARall Yuu sl ©

D.

B.

D.

before it enters the next stage to
increase efficiency

Remove remaining traces of
moisture

after the after-cooler

gall o oflost cdotsst Ui Hlscal
VAl doll dluHlet A 59
el Hi &l Ao g2 sall M2

Which of the compressors is used to supply large quantities of air?

A. 1A UL Yo A yaaldl
wesladl

C. 6 oll os s3Il A Asll
[Astx Hl weAZlo A0
$q

A. Reciprocating

C. Rotary vane

B.
D.

Rotary screw

Centrifugal

sl $1YUR ecll ol Hl2l Al Y WSsall HiZ cduA B?

A. AlU3la

C. A23 Aat

Material used to make impeller is

A. Steel

C. All of the above

VAR ololladall HIE dUJAA Ueld B
A. Xld

C. GUR all olal

Bucket Elevators are used in

A. Mining Industry

C. Thermal Power Plant

e wellde? | woul A duRlA B

A. vl Gelot
C. Add WadR e

Which is the principle of electrochemical cell?

B.

A. Chemical energy into

electrical energy

C. Mechanical into chemical

energy

B.
D.

B.
D.

B.
D.

D.

Ae3 g
Aogl$IolA

Cast Iron

None of the above

sl2 Wl_lel
GUR oll Hi ol 818 olld

Cement Industry

All of the above

RA.2 Gelol
GUR all dHLH

Electrical energy into Chemical
energy

None

Qg R[5 5N s Rsid UR sl s? 82
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58.

58.

59.

59.

60.

60.

61.

61.

62.

62.

A. R/URAQ S Gl of [Agct Gt B.  [Agc Gl of UGS Gt Hi

Hl3UlAR 3UlcR
C. AR5 Gl of RAUAQS G5l D.  GUR oll Ui ol 5 i@
i 3UlAR

Which is the value of pH of acidic compound?

A. 14 B. =7
C. >7 D. <7
ARSS alall of pH 9 8l B?

A. 14 B. =7
C. >7 D. <7

is the example of oxidation

A. Removal of electron from B. Removal of oxygen from element
element

C. Addition of electron in D. Al
element

_ A @33t of GelgRel B

A. dect Hi ol 8QASRN £2 A B, cecl Hi Ul (@t g2 AU

C. decl Hl 8AsRet ARG D. GUR ol dHIH

Electrochemistry deal with study of conversation of.....

A. Electrical energy into B. Chemical energy into electrical
chemical energy energy

C. None of the above D. Both of the above

Qg AL __ Hi 3UidR AU oiy YAA &

A. (Qeyct Gl of s Gl B,  UAQSs Gl of (Agd G

C. GUR ol Ui dl 81 oil® D. GUR ol ¢l

The process of reduction means?

A. Addition of electron B. Removal of electron

C. Removal of hydrogen D. Addition of oxygen
(Rssalat ylsau Aed?

A. A2\t GRReloll (521 B. &Aslel £2 scllell (52U
C. slegloset GRRellell (a1 D. &t GRRclell (3au
______is the pH of pure water

A. More than 7 B. Less than 7

C. Equal to 7 D. zero

Jo Wl g pH _ 8ad
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63.

63.

64.

64.

65.

65.

66.

66.

67.

67.

68.

A. 7 dl ay B. 7l

C. 7 D. YA
Electrochemical cells contain

A. Positive Electrode B. Negative Electrode
C. Electrolyte D. All of the above
Qgcduals sl 1l sad

A. ot (Agd Yo B. 0l (Agd Yo

C. Qg (Qeust D. GUR all dHIH

When two or more cells are connected in series they form

A. Electrode B. Electrolyte

C. Battery D. All of the above
ol A ¥y SIn ol AR Hi AscHl WA D AR __ ol B
A. @Qgd Yo B. (Agd [Qeux

C. ALK D. GUR ol dHI™

If the pH meter shows the pH of solution = 7.5, the solution is?

A. Acid B. Salt

C. Base D. Pure Water
ol pH Hl2R alall oll pH V.U €2ld dl A slagl 53 B?
A. AR B. &l

C. Ak D. s well
____instrument is used to measure accurate pH

A. pH Meter B. Colorimeter
C. Spectrometer D. Hygrometer
At AsAUY Al pH HIUAL HIZ dURlA B

A. pH ez B. slcdl®eR
C. As@eR D. e&lgale?

The branch of chemistry that deals with the relations between electrical and
chemical phenomena is called as __

A. Physical Chemistry B.  Electrochemistry

C. Metallurgy D. Thermodynamics

UALL (Asltot ol 2wt B [QAgd wal UAMS WUJA AR ol Ao UR
WURA® Al 53 ®

A. elllds 2 B. [(Agd 2w

C. Ulcgoual D.  Guoildaus

Which statement is true for an electrochemical cell?



A. Oxidation occurs at the B. Reduction occurs at the anode

anode only only

C. Oxidation occurs at anode D. Reduction occurs at anode and
and cathode cathode

(Aglct @5 s\ MR 53 [Qulet WY B?

A. HAL Alls UR o @32t B. M2 Aolls UR o IssAet AA O
aA B

C. Aolls Aol SAS UR D. Wolls Ual S UR Iss2Uel
A3t AuA B Al B

pH range is in between

A. Oto7 B. Oto 14

C. 1to 14 D. 1to 14

pH ___ ol ar sla B

A. odl7 B. o dl14
C. 1l 14 D. 1l 14

In an electrochemical cell the metal which has higher oxidation potential than
other will act as?

A. Electrolyte B. buffer

C. Cathode D. Anode

(Agfct R[5 5™ Ui B tldg oll @32t W2otllact ay lad Aotl 33 acd
8?

A. (Qgd [Qeux B. W§?

C. salls D. s

sk e sk sk ok sk sk sk skosk skok
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